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1 91 |No. 1 4 271 | No. 2 T 2/ |No. 3 4 2R 1 7 28
2 [No. 1 7 3 |No2|  H [3A|No3 T 34 | No. 4 7 34 2 * + 6 [l o B
3 [No. 1 ™~ 3/ | No. 2 ] 3/ |No. 3 A 3/ (1) | (EEZMHI) sightseeing | 2&((2) (IEZI) free 25
i3
No. 1| He was (IEZ&HI) watching TV 455 (3) (IEZ 1) make 2/
4
No. 2| She (IEZH) bought another cat and named it Lucy. | 44 R4 (IEZHI) take 34
2 1| (D) May 25: 1 (2) Raise 254
(1) (IEZH) Hi, good evening. 1 am Koji from class 3. 455
2| (D playing 281 (2) go 254
(1) (IEZH) 1 go to school by bus. / I walk to school. 45
FFH?) &
(2) (EZ®H) 1 like dogs. / My favorite animal is cats. 45 (&4
| think Jozannkei is the best place, because you can enjoy skiing and hot
springs. It is the best experience for you to take a bath outside. Also, you
3
- 1| @ T 3R | () 7 3 ) can eat delicious Japanese dishes there. (353%
A
R2 (IEZH) We should go to Camping Area [Blue] and pay. 415
i1 7 3m| 2 1 3R
B
AY3 (IEZ) They return home to stay with their family and friends and eat a A
" large dinner on Thanksgiving.
(3) (IEZ1H) Thank you for your idea. 25
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